TR, B R
MEES wp

clear; clf;

[ Y1, FS1, NBI TS1] =wavr ead(' a. wav' , [ 6000 26000]); % St ep2
[ Y2, FS2, NBI TS2] =wavr ead(' ne. wav', [ 10000 30000]);

[ Y3, FS3, NBI TS3] =wavread('to.wav',b[17000 37000]);

[ Y4, FS4, NBl TS4] =wavr ead(' f 0. wav', [ 5000 25000]);

t=1:1:20001;

figure(l);

subplot(2,2,1); plot(t,Y1l); title('f="); axis([1,20000,-0.4,0.4]);
subplot(2,2,2); plot(t,Y2); title(' " ); axis([1,20000,-0.4,0.4]);
subplot(2,2,3); plot(t,Y3); title('[¥); axis([1,20000,-0.7,0.7]);
subplot(2,2,4); plot(t,Y4); title('y); axis([1,20000,-0.4,0.4]);

figure(2); % St ep3
FY1=fft (Y1, 20001); M-Yl=abs(FY1);

Fy2=fft(Y2,20001); M-Y2=abs(FY2);

FY3=fft(Y3,20001); M-Y3=abs(FY3);

FY4=fft (Y4, 20001); M-Yd=abs(FY4);

subplot(2,2,1); plot(t, MFYLl);

subplot(2,2,2); plot(t, MFY2);

subplot(2,2,3); plot(t, MFY3);

subplot(2,2,4); plot(t, MY4);

figure(3); % St ep4d
t=1:1:10001;

subplot(2,2,1); plot(t, MY1(1:10001,1)); title('[r");

axi s([1, 10001, 0, 200]);

subplot(2,2,2); plot(t, MVY2(1:10001,1)); title(' &");

axi s([1, 10001, 0, 150]);

subplot(2,2,3); plot(t, MVY3(1:10001,1)); title(' [+ );

axi s([1, 10001, 0, 250]);

subplot(2,2,4); plot(t, MVY4(1:10001,1)); title(' f1');

axi s([1, 10001, 0, 150]);
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